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V Semester B.Com. Examination, December - 2019
(CBCS) (F+R) (2016-17 and Onwards)

COMMERCE
Paper - 5.4 : Costing Methods

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in English or in Kannada.
N - & / SECTION - A

BUNT CIRPYTSR DX WT-JINOR wuZdr.  BICIROW WT-TI 0L DTW
WOBNYT), BRODTVZT. 5x2=10

Answer any five of the following sub-questions. Each sub-question carries
two marks.
1. (a) 3R dz;s; a'dcgpc% ROTTE 9
Write the meaning of Job costing.
(b) BOX-FZ AEOID/I), WFRD IRRYTITTR T, §MROINY YUTRTTE AR
Give any four examples of industries where job costing is applicable.
(c) "NIHOD ATRD TOWER’ QOTITED ?
What do you mean by Economic Batch Quantity ?
(d) TFoD FYB HTRE TOLOBELNTIY, EPA.
State any two features of process costing.
(e) TE0e3eBORT FOX QOTWTERD 7
What do you mean by work uncertified ?
() oG IPT oTFIN, e,
State the meaning of Hospital costing.
(g) =Boodped [ TS DOTTEI ?

What is composite cost unit ?

P.T.O.
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Q@R - © / SECTION - B
CIRRHTREER FRD TR IOR. FEIROD TOWR G BOBNYR), BROVI,

Answer any three questions from this section. Each question carries
six marks. 3x6=18

2. 0 dzg_j NPT WD) WL ﬁzg NTOING IR aéaeém@ém& 203000.
Write the differences between Job Costing and Batch Costing.

3. YN [0HE0N0T D, éagd woee3 Je 25 d%&o& TOBON =508 52,;3 ) SIOTOE
2360335301 FOTHROND.

BegpRRON I 24,000

309 : awedd A T3 notdit T 100 303 ek, 120 RoLNR
awesd B 38 nowdnt T 60 Cod 2id) 80 ROwNSH
Qw8 C B notdrt T 50 Co8 ewed), 40 MO

230 DeSEned ¢ TS nowdn T 40

?%p &e%&iﬁ% 2,000 Rognent et X 50,000

Calculate the cost and selling price of the job after adding 25% profit on total
cost.

Materials ¥ 24,000

Wages - Dept. A - 120 hrs at ¥ 100 per hr
Dept. B - 80 hrs at ¥ 60 per hr
Dept. C - 40 hrs at T 50 per hr

Variable overhead - ¥ 40 per hour

Fixed overhead - ¥ 50,000 for 2,000 hours

4. X 30TROM WBFZI, IoIODIB.  IWAS B~ 1 8Q 2,000 22 T3
SRR, agodo éﬁ ﬁ T8 do:-% &dﬁm}@ﬁ)ﬁd Tod0FE By T 4,000 @oNT,
em@mcsm =oedks 2,000 SNTIT. WINPT, I Jesmo 10 de Slelantay a’m@d
@dm 20T %a% n T2 3003 chms Mdmﬂd % emaecﬁéodm waoi)oiveﬁ
1760623 RYQUTET. em@mzjé B[O - 1 T 0030307, @Scdwm@ OWICH) @‘?d@ﬁ
ST aﬁaemm ﬁocéa&@oﬁb@

X company manufactures a product 2,000 kgs, raw materials at I 8 per kg
were supplied to Process-1. Labour cost amounted to ¥ 4,000 and production
overhead incurred was T 2,000. The normal loss was estimated at 10% and
was sold at T 2 per kg. Actual production in the process was 1760 kgs.
Prepare Process-1 account and value of abnormal loss.



LT

FYBOB o0& d &as méﬁ méwi 303701 :

S.

3

| RNT =02 ()
I

voled é,;d ONOT LDEAT ﬁasow Slatey 3,000
RACTOMNAOT NSe IRBT 525“53 mo 1,000
(et HOSTOHNT FLRT|RONW 480
RO 4,880
3T W 588

FOONFAREDHBOD TNOD ﬁzs Jeo3RedoD Je 25 da&b
36300 AWFTH OT 6323 ""’ S5 ﬁ”*"’ Se 10 dw@

gk 8¢ T 12,000

From the information given below prepare contract account :

Particulars Amount (3)
Materials bought from the market 3,000
Materials issued from stores 1,000
Materials returned to stores 480
Wages 4,880
Direct expenses 588

Works on cost 25% of direct wages
Office on cost 10% of prime cost
Contract price of I 12,000

GN-343
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6. 3VT0B [P&SONOT :
(a) 2t 3.00e. nigd
(b) 2830 LVOIT0ET .a0e. Mgd ‘a@ﬁ%ﬁﬁoﬁi FOTR&BOND.,
2,000 30NPTY FOONFATE LT OIND : 30 QI[N
%8 03Q0T 200 $.c0¢. R d@dﬁ&b& 33 A g&JRJUogCS
283D AN : 4
DS AT ORFF 50 To3mwedzTHd
TO30E3FT RTOXO TOII0R : 3edmo 75 d_mmqﬁf.
From the following information calculate :
(a) Total kilometers
(b) Total passenger kilometers
Days operated in a month - 30 days

Trips made by each bus covering a distance of 200 kms one side
No. of buses - 4

Capacity of each bus 50 passengers
Average passenger travelling - 75% Capacity.

PN - 2 / SECTION - C
URPHTRRER R ZBnen wu3or. Feoieomd peiento SOy, SELAEN BRODTLIE,
Answer any three questions. Each question carries fourteen marks. 3x14=42

7. (a) 28 3oz ;a’oaié 101 T 3903 SIben o 2083 3 B WOTEY TIDTHE

23803, FomEBAD.

4
3eT Be5Y, TJHBEN 17,600
T R B 8,000

TOORFT WeSURD, T XPB B¢ 50 ToB FORRNS Tonn “Ee daec;azs’dwmol
plen ﬁagd 3¢ 10 303 ZBoxeoAs. 283 ﬁz;dd 3e 10 dagmal SN KeOREOAS.

(b) ZBod o2 X R 4,000 wswm{i % 4,00,000 D jal) 5259, TJFFRYOA
DOWCRIONT. 933 DDdeRTHA < 2,40,000 ri@émcl HORCONTE.  TdEoNT
22D DRBFRLY e 5 oD, 33T SF BN, mmsé S Be 5 OR BN,
YRINTI, TS Fe388 T 16 Co3 Snoot SRERA, DBOD TOZB X I I,

. 3,650 TN,

T TOB X I 350BOD, AT TR VTR, N9Fod DI, BOLROWO.
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(a)

(b)

From the following particulars related to Job No. 101 ascertain the
total cost and estimated selling price.

4
Direct materials 17,600
Direct labour 8,000

Works overheads are recovered on the basis of 50% of prime cost and
administrative overhead 10% of works cost. A profit of 10% on total cost
is to be added. |

In process X, 4,000 units of raw materials were introduced at a cost of
T 4,00,000. The other expenditure incurred in the process was
< 2,40,000. Out of the units introduced 5% were lost in weight and the
normal loss was 5% which were sold @ X 16 per unit. The output of
process X was only 3,650 units.

Prepare process X A/c and calculate the value of abnormal gain.

8. 31-12-18 mamoéé'u; VPN 3YFOT ?m&oéofomc{ A A’ i1 ROWODAITOZ VBTN,
BTO FIRWF) DR DT BoINY @Qﬂ)ﬁ%ﬁool apiEAlelalevic

Jrrultry wed | TIod -1 Tk -1 | B[aod - I
) ) () )
3¢eT 62,3% ﬁz‘gﬁ% 7,542 2,600 1,980 2,962
33 3R 9,000 2,000 3,000 4,000
NWITWBT LB T RLD 9,000 | e s
0T POTF 950 (338n%0) | 840 (Te3sried) | 750 (Feisnisd)
WRRT, 57 5%| 10% 15%
w, 5 BR00 B (I Fud) < 2 < 4 %S

1000 Fe3sniea T 3 008 Tpod - 139 BOWRRINS.  Rew3 500z
RNR[HAW D) IFFay BT APOY. TS TFoHOH YUBHEZOR FVOO
TBODT AeTFEOIRTIZE D WOSTN BOFYONT ToRAR AemF3odMdSas. LTI
ORI e 100 O, 3e3 BRAONOT NEZORMZT.  TFOHOD cané:od:)mal 3033004.

P.T.O.
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Product ‘A’ is obtained after it passes through three distinct processes.
The following information is obtained from the accounts for week ending

31-12-18.

ITEMS TOTAL | PROCESS - I |PROCESS - II |PROCESS - III

) ®) ) R)

Direct materials 7,542 2,600 1,980 2.962
Direct wages 9,000 2,000 3,000 4,000
Production overheads 9000 @ -—| = mm
Output during the week 950 (units) 840 (units) 750 (units)
Normal loss 5% 10% 15%
Sale of scrap per unit 3 2 T4 TS

1000 units at ¥ 3 each were introduced in Process-1. There were no stock of
materials or work-in-progress at the beginning or at the end of the period.
The output of each process passes directly to next process and finally to
finished stock. Production overhead is recovered at 100% of direct wages.
Prepare Process cost a/c.

9. 3308 RIPLSo 2018 J¢ HOT DT m%ﬁﬁ@ﬁ FOLORATVET.

A B
DTN X) R)
QTETTB, TH&WAT BT RONR 1,70,698| 1,46,534
3RO 1,48,750| 1,37,046
m@ﬁd 30,000 25,000
JeT WF N 6,334 5,718
200 S N 8,252 7,704
RPN &0STONIVL ﬁzs'%w:fgﬁ@éo 1,098 1,264
B@PEBeBORT TOR | 3,90,000| 2,90,000
T=0e8eBORT TOR 9,000 6,000
NRTITYT FWWANKD (31/12/2018) 3,766 3,472
209 ¢ (31/12/2018) 4,800 4,200 |
QNe] ﬁz\z%dﬁ@o o508 (31/12/2018) 480 360
m@aﬁdd m‘a@é (31/12/2018) 22,000 19,000
AVETRIONVIRALS 5,00,000| 4,00,000

308 TBWe3esTroTRE BPOREY Je 80 TIW), INTI FOOLTVFEOOT  TWHEODLTONT.
&RaTe8 TR TO0LTFLATDTONTY, TR,



[T 7

The following information relates to two contracts

2018.

Particulars - g

) )
Materials sent to site 1,70,698| 1,46,534
Labour 1,48,750| 1,37,046
Plant 30,000 25,000
Direct expenses 6,334 5718
Establishment charges 8,252 7,704
Materials returned to stores 1,098 1,264
Work certified 3,90,000] 2,90,000
Work uncertified 9,000 6,000
Materials at site (31/12/2018) 3,766 3,472
Wages outstanding (31/ 12/2018) 4,800 4,200
Direct expenses outstanding (31 /12/2018) 480 360
Value of plant (31/12/2018) 22,000 19,000
Contract Price 5,00,000| 4,00,000

The cash received from the contractee was 80%

Certified. Prepare contract account and contractee’s account.

GN-343

of a company for the year

of the value of the work

P.T.O.
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10. 2.0t Fosweds Splelyt BOFOD T EM

0T 2018-2019 Pe 0O ﬁzz:zi E'a’éi TN T3
X3 TE Jodweds 8.o0¢. 1 TORBRCWD,
(a) 5 BafeNentaots &Jﬁ;ﬁ% TN T 1,00,000, ¥ 2,40,000, ¥ 90,000, ¥ 1,10,000
& T 1,60,000.
(b)  PIING RDeds DIXET TJTFY Je 20 ob) 3BT e,
(c) oars oZed DUND, AT B0 DMaEey DB VRN Je 80 O&D, ITFLOD
20ee.

(d) 100838 zows 7 200 DS Sonsd.

(€) 20 gesone 320 7 100 TS &onsb.
() Besz8g am% ¥ 800 soars.

(8) Be3ed dFFB 2,000 I& sonsh.
(h)  Zo=ozn B 301 T 4,000 T8 wa:is'é&.
0) woEeex Heds Q8 e 4 Toars.

(k) Beder Dudrred moars % 40,000.

(1) 900 @o&asﬁﬁd&o{ 1,600 8.20e. MY B0 Sz,

(m) 6 mdexny woar agéo&raocﬁﬁd X 1000038 Ze sonen.
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Workout in an appropriate cost sheet and find the unit cost i.e., per passenger
km, for the year 2018-2019, for a fleet of passenger buses run by a transport
company. The following information is extracted from its books.

(a)

(b)

(d)

(e)

(h)

(1)

\)

(k)

(1)

O passenger buses of ¥ 1,00,000, % 2,40,000, ¥ 90,000, ¥ 1,10,000 and
< 1,60,000 respectively.

Yearly depreciation on vehicle is 20% of cost.

Annual repair charges, maintenance and Spare parts 80% of depreciation.
Wages of 10 drivers is T 200 per month.

Wages of 20 cleaners at ¥ 100 per month.

Director’s fees - ¥ 800 per month.

Office establishment ¥ 2,000 per month

License and taxes at ¥ 4,000 per annum.

Realization by sale of old tyres and tubes - % 6,400 for every 6 months.
Yearly rate of interest is 4% on capital.

Diesel expenses per annum is ¥ 40,000.

900 passengers were carried 0V¢r 1,600 kms during the year.

Rent of 6 garages at ¥ 100 each per month.

P.T.O.
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11. 20030 FOTION IO3T00T? aa'»mmm a&raoﬁcﬁo TRIBTT TPRET nuawﬁ RO TR
F0DE A’ T [0 L3S0, NG w@h}@a 4 %%owoé 52,3 Dadrﬂ@ém ‘c’oe@md

823y, WRNKD

308 3¢ : 28 Rotined, T 2.50 B nown

(pepad X — 16 ROENRL a3 Y — 12 notdnw)
2TTFE RPBWTVCIVT VYN0

Q% : 33.67% SYRERN (LBTTBE)

T -BHRD 35030 DJeRET B3 3SBOWOST

X
823y, WROND 3,00,000 DBY BT
3¢ B8RO :

98 X 20,000
Qo8 Y 24,000
UONOIEMANAES 8,000
LRORE,
qesd X 10,000
Q08 Y 18,000
2ot SpYA! 1,20,000
5,00,000

z
(BB Te3sd)
140
70

10
220
74
294

3
5,00,000

5,00,000

DOBR ATBNEN @?sodomrb:)oé 25050 Rot3oD BTN L.0Te @ﬁdoe_épd.

(@) 3URG S Tgod, I0IROR.

(b) . COF-TH TLNY 30e0ATIR LRTHRE ©oNY $eetnd Uel X W QU0

Y nonR @@a@ﬁ)m wﬁ%é daﬁﬁm FOTILRBOND.

(c) H|oooes LBSODI, F0R&BBODED B¢ 20 TFIY, 2N, oY %:3@6,%.
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A company has manufacturing shops. The shop floor supervisor presented
the following cost for job A to determine the selling price :

3
(per unit)

Material \ 140

Direct wages; 28 hrs @ I 2.50 per i 70

(Dept. X - 16 hrs and Dept. Y - 12 hrs)

Chargeable expenses (stores) 10
220

Add : 33.67% for expenses (overhead) T5
294

e E—————

Analysis of the P/L account shows the following :

< 3

Materials 3,00,000 Sales less returns 5,00,000
Direct wages :

Department — X 20,000

Department — Y 24,000

Stores expenses 8,000
Overheads :

Department — X 10,000

Department — Y 18,000
Gross Profit 1,20,000

5,00,000 5,00,000

It is noted that average hourly rates for the two departments X and Y are
similar. You are required to :

(a) Draw up a job cost sheet.

(b) Calculate the revised cost using overhead figures as shown in the profit
and loss a/c as the basis for charging overhead to Department X and Y.

(c) Add 20% of total cost to determine the selling price.

-00o0-




